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UNIVERSITY OF NORTH BENGAL

B.4¢. binor 1ul Semesier Examination, 2033

UMATMINIOGHI-MATHEMATICS
CLASSICAL AND LINEAR ALGEBRA

Titme Allotted- 2 TTowrs 30 Minues Full Marks: )
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1. Answr apy four questions: 3=d =132
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(b) Apply Desearte's rule of sign to find thenatice af the roots of the ayuation
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{) Prove that eero is an eigcavalue of a singular marrix.
23 Tt 8, 4 5 el e ilice wiEoe Im)
9[-0 U singular ARTEG elgen A 31 AT AR |

{d) Definc eotsistent system of equations. Show that the following system of linear +2
aquations has infinite mumber of solutions:
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() Detine rank of a raatrix, Find the rank of the following matrnx: 1+1
o BT Tank-c Rew we | AR iR rank oQ 3721
| oo

I

L 1l oo
D010
0o o0 L



FYTOUPRSMIN s SemnUMATMINIAN0L 2023

R Rank 9wl & ot 7 Afeaw

SO T B
(00 If e, b, ¢, d e pasitive real munbecs, then fnd the minimum value of 241
a & v i
— + -—
b oo d g
When dues the minimum value voour?

L} a, b, e, o YFFTEE AT AL T, e §+E~E+£—nﬂﬁfﬂﬂ-‘a‘ﬂ1ﬂmﬂ?ﬂml

T TR AH ocour T 7

GROUE-B / H=-4, gqp-a

2 ANSWET any four questions; b4 =24
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Srake Cayley-Hamilton theamm. Uy if o And the imveeses of the Tollowding matnix;
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If e, 8. 7 be the toots of the equation 2’ +3xt —x—1=0, find the equation
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Solve by Cardan’s method v'—5x—1=0. Henee find cus%cm%msl%.
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(i) Siate De Moivre's theorem for integer and rational mdices, L 1t & prove that,
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(1) Find modz and srgz where z=|+ﬁrﬂn3?"r.
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(b} {1} Find the etgenvalues and the tumesponding efgenvectors of the matrix
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(1} Determine all values of (i ++%* and show that their product is 3.
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(¢ ) Solve the system of linear equations given by
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